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1.  Arod of length ‘b’ is broken into three parts at |5.
random. What is the probability that a
triangle can be formed from the parts ?

(a). 1/4
(b) 1/8
(c) 1/64
(d) 1/32

2. If A, B, C are three events with B and C

independent, what is P(A | B) equal to ?

(a) P(A|B N C)PC)

) PA|BNC)PEC)+PA|BN C)PC)

(0 P(A|BnNn C)PCC) 6.
(d PA|BNC)-PA|BNC)

3. An urn contains 3 white and 5 red balls. A
game is played such that a ball is drawn, its
colour is noted and replaced with two
additional balls of the same colour. The
selection is made three times. What is the
probability that a white ball is selected at
each trial ?

(a) 17/64 7.
(b) 13/64
(c) 41/48
(d) 3/16
4, Let x,, X,, ..., X, be n numbers, which are not
-2 1
. The i ity — ), — 2 — hold
zero. The inequality — 1=21 X = holds
(a) always
(b) never
(¢ ifall x,<0
(d) ifall x,>0
N-DTQ-K-UVC (2 -A)
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Consider the following in respect of two
observations x, and x, :

1. Standard deviation of the data =

1

E | xl i xz \ .
2. . Range = Standard deviation.

3. Mean deviation about mean = Standard
deviation.

Which of the above statements is/are correct ?
(a) 2 only

(b) 1 and 2 only

(¢) 1 and 3 only

(d) 1,2and 3

If the standard deviation of a random variable
X is o, then what is the standard deviation of

(o + Px) /vy, where a, B and y are constants ?
(a) 6 /v

® (B%) /vy
() (Bo)/y
@ (Blo/|v]

Consider the following statements :

1. The principle of validity ensures that
there is some definite and pre-assigned
probability for each individual in the
sampling design.

2. A moderately large number of items
chosen at random from a large group
are almost sure on the average to
possess the characteristics of the large
group.

Which of the statements given above is/are

correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

Dream Dare Win
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L R Y e 55 o agfes a9 Rl d dmr]s. x, 3R x, 21 e 5w F RrefuRes ) R
ST @ | 3 fwl @ P @ o owey @ a%’lri?m:xz

e @ & ?
@ 1 1. maas‘iasrnmsﬁaaq=%[xl—x2[.
b 1/8 2. TRHA S o )
© 1/64 3. W ¥ mey e = vew fFaem |
d 1/32 I DA A B Wy 7 2
(a) &ac 2
2. giré)Bé;*mﬁ?mBua'cmé, (b) ¥aw 13K 2
(a) P(A|B N C)PC) e adan
@ 1,23R3

(b) PA|BNC)PIC)+PA|BN C)PC)

(0 PA|BNC)PC) 6. it vr ughes = x & T Ao o 2, @9
i X OB,

d PA|BNC)-PA|BN ) (a + Bx) [y @ "o foae ar &, 5afd o, B
3R y feris & ?
8. UF Bl H 3 Wk vd 5 ot W & | v Wl 3w @ 6/y

YoR QAen 37 & 6 v g & s &, gwar
Xar e & e s g 1 B A 3 A A ®  (B%) /vy
? | 39O F1 WRiEd e 6 & oo o v wie
T afE R o @ (Ble)/|v]

(a) 17/64
7. Feafefes s | far e -

(b) 13/6
e 1. du@ o Rigra o gRifed axar @ 5
© 41/48 s sifed ¥ s wfte @ o gRfEa
d 3/16 3R g-FrefiRer sfresar @ |
2. © faore wgg ¥ weRer feme g §
— argfepae: Wi ¥ 39 e
4. H WRE x,, x,, .., x; 0 T E, S O mﬁﬁ%mm g;WE
qﬁglmﬁm%i;}z%mﬁama e el # ¥ B R w2
o (a) e 1
(a) &hem
b
(c) ?Jﬁ'ﬂ‘l?[xi<0 () 13K 23
@ aRwh x>0 @ Fdr1sikad2
N-DTQ-K-UVC (3-A)
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The variance of an estimate of a parameter |10.

can be controlled if

(a) the cost of selecting and processing the
population units are controlled

(b) the population is partitioned into
homogeneous subpopulations and
sample distributed over them

(¢c) values associated with population units
follow some definite pattern

(d) Both (b) and (c) above

In a sample survey, two terms ‘accuracy’ and

‘precision’ are used interchangeably. But they

mean different things, therefore one should be

cautious in their use.

The following are the statements of caution :

1. ‘Accuracy’ is the right word when one is 11.
certain that there is no bias in the
estimate and ‘precision’ is the right
word when bias may exist.

2. ‘Precision’ is the right word when one is
certain that there is no bias in the
estimate and ‘accuracy’ is the right word
when bias exists.

3. ‘Precision’ is a Dbetter word than
‘accuracy’ for measuring accuracy of an
estimate.

4. ‘Mean square error is a better term to
measure accuracy of estimate.

Which of the statements given above are

correct ?

(a) 1,3 and 4

(b) 1 and 4 only

(¢) 2,3 and4

(d) 1 and 3 only

(4 -A)

O ik i i i i
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Let X, X,, X3 be random observations from a
population with mean M. Some estimators of
M are suggested below :

LT, = (X, - 2X,)

2. T, =(2X,-X,)

3. Ty=X; +X,+X3/3
4 T, =X, +3X, +X,)/5

Which of the above estimators are unbiased ?

(a) T, and T, only

(b) T, and T, only

(¢) T, Tyand T, only

(d T,, Ty Tyand T,

If X, X,, ..., X, is a random sample from

the population

e "% for x>0
f(x)=

0 otherwise

Consider the following statements for the
estimator of 6 :

1. X — X" is a consistent estimator.

2. min X is a consistent estimator.
1

3. max X, is a consistent estimator.
1

= =2, . .
4, X + X7 is a consistent estimator.

Which of the above statements is/are correct ?

(a) 2 only

(b) 1 and 2 only
(¢) 1and 3 only
(d 1,2 and 3

Dream Dare Win 4

Www.jeywin.com




Dream Dare Win

WwWWw.jeywin.com

8. UP WA & HEHa & TR & Frafaa s 3| 10,
& & afe

(a) WA g@FRal & g 3R wEwor & ame

fFrafea &

(b) wwfe, wum Iuwwfedl § fwfda & sk
vfoeef 37 w dfRg @

(c) wHfe somdl ¥ wag o+ el Fiftaq
iR T FRROT @] 8

(@) 3G (b) 3R (o)

9. u sfteed wdeor 4, & oz gemar sk oRegar
fafrrge: waes fw omr & | fbeg 3w R anef &,
T I WA F W@ & S afke |

Iaa & oo Frafafaa € -

1. guRdr 316 v ¢ 59 FfYad @ % e
# o aftefa 78 2, 3k oReear S w=
¢ & fiEfer faemme & wad &

2. Rysr S = & 5@ Ffdea & 5 smea
¥ o5 sfimfy 78 2 sk gurfar 3 we
T afFfa foae & g & |

3. Ioa @ guefar mw ¥ fore oReggar,
YA B e R I= B |

4. 3 B FuURfar I & o me of 3R
FERGEE |

11.

e ool A Bt & W E
(a) 1,33 4

(b) &ad 1 3R 4

(¢ 2,33R4

(d) &aw 13k 3

N-DTQ-K-UvVC (5 -A)

AR X, X, X;, Wea M aeh weie @
argfeas Nefor & | M & PO HSad A1 GAL M0
g

L T =& -2X,)
2. T,=(2X, - X,)
3. Ty=&X, +X, +X,)/3

4. T, =X, +3X,+X,)/5

305 ¥ A BN ¥ IS IR § 2
(a) oael T, 3R T,

(b) el Ty 3R T,

() &a Ty, Ty 3R T,

(@ Ty, T,y Ty3R T,

afe X, X,, .., X, e

e "9 FEx>0
f(x)=

0 I=q&ar

¥ foranr gan ufins wieel & | @ 0 ¥ R
Frafofea suet w fer e

1. X-X°ve a9 sneas € |

2. min X, U$ 0 0D & |

3.  max X, UF G HTD ¢ |

4. X +X° v W anaes & |
94w T F A B R wd AE 2
(a) ®ad 2

(b) &ae 13k 2

(c) &aa 13k 3

d 1,23k 3
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12. Let T be the most efficient estimator of ® and |16. Two discrete random variables X and Y have
T is imot.her estim_abe with efficiency 0.-?81. joint pmf as f(x, y) =1; 0<x,y <1 Then
What is the correlation between T" and T ? what is P(X2 + Y2 < 1/4) ?

(a) 0-405 (a) =/2
(b) 081 (b) m/4
(© 090 (© /8

(d n/16

(d) Cannot be determined
17. If Xs- are independently distributed as

Poisson P(4,),i=1,2 and VX, +X;) =3
13. Let the random variable X have the pmf,

C and PX, = 2 | X, + X, = 4] = 8/27, then
PX=x) = 9% x=0,1,2.. what is the mean of X, ?
What is the value of C ? (a) Mean = 1 only
(a) 1 (b) Mean = 2 only
(c) Mean=1, 2
(b) 2

(d) None of the above

© 1/2 18. Karl Pearson’s coefficient of skewness for a
@ 1/4 distribution is 0-4 and coefficient of variation
is 40%. If the value of the mode is 84, then
what are the mean and standard deviation of
the distribution respectively ?

14. In a continuous distribution the probability (@) 100 and 40

density function is given by f(x) = yyx (2 —x);

) , (b) 80 and 40
0 < x < 2. What is its first arbitrary moment (©) 100 and 30
My ? (d) 80 and 30

(a) 1 19. Suppose B, = Fourth Central moment/(Second

central moment)? is considered as a measure
(b) 2 of kurtosis of a data D. Let D’ be the data
(¢) 3 obtained from D by multiplying each
) 4 observation in D by a constant ¢ # 0. Let D”

be the data obtained from D by adding a
constant ‘a’ to each observation in D.

15. What is the expectation of the number of Now consider the following statements :
1. The kurtosis measure of D’ is equal to cf,.

2. The kurtosis measure of D” is equal to

failures preceding the first success in an
infinite series of independent trials with

a+ B,.
bability p of i h trial ? 2
proba’itl p O SNees 1 oach i 3. The kurtosis measure of D’ is equal to B,.
(@ afp 4. The kurtosis measure of D” is equal to B,.
® pla Which of the above is/are correct ?
(a) 3 only
(¢) p/(2qQ) (b) 4 only
1 and 2
@ aq/2p) (©)
(d) 3 and 4
N-DTQ-K-UVC (6 - A)
|
TR s e ol i i e, s i
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12,

13.

14,

15.

N-DTQ-K-UVC

" e T* waiftis zar smees & 0 &1 3k 0-81
A P T O I Db 8 | T 3R T %
e WEwE= o & ?

(a)
(b)
() 090

@ fefRa & far sn wear

0-405
0-81

a f5 agfed TR X @1 pmf &
P(X=x)=2—x, x=0,1,2 ...

CoHaqaard ?

(a) 1

(b) 2

() 1/2

d 1/4

U aa dea # wiiidar a9 B
f(x)=y0x(2-—x); 0<x<2

mﬁmmpim??

(a) 1

(b) 2

(¢) 3

(d 4

WA W @ s 4o § B v@s gheor
# |wedr B wiywsdr p &, oW A ¥ v B
HABEATH DY T B TeTen T & P

(a)
(b) p/q

() p/(2q
(d) q/(2p)

a/p

16.

17.

18.

19.

(7 -A)

ﬂmmﬁ)ﬁﬁ‘[mmpmfg
fxy)=1 0<x,y<1 @ PX2+Y2<1/4) @
H T g ?

(a) =n/2

(b) m/4

(¢ =/8

@ =/16

afe X;'s Taar aftq € @it Py, i= 1,2 3R
VX, +Xp) = 33RPIX, =2 X, + X, =4] = 8/27,
A X, &1 e aar @ ?

(a) WA = 1 Hae

(b) Weg = 2 Fae

() WEeg=1,2

d) IgE F ¥ P 8

WS dCT B @il e dvar uiis 04 # ik
fareror 1Tt 40% # | R agers @ W 84 @), 7w
g7 &1 W 3R W e mer @ € 2

(a) 100 3R 40

(b) 803k 40

(¢) 100 3R 30

(d) 80 3ik 30

wH e 5 p, = aqef Sra s/ S
3ol @1 U et D @ sgadr B 7Y B wg A
ferar fosar smer & | = @S, D sitEE, DR, D
& FeS Jar B ReRi® ¢« 0 F o7 B W o
foe s & | 7= AMfse D s, D, D H
e eror # Rerie ‘@’ B Sz o e R s
g

9 Frefafea swl w e e -

1 D& el S 1T cp, B &R & |
2. D" 3l ®gear B A a + B, B WA E |
3. D’ & dgaar B A p, & W E |

4. D" & SPaar B A f, b WK ¥ |

30w # F BT A v &
(a) ®ad 3
(b) I 4
(0 13k 2
d 33k4
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T R PP S SR v T VO W
20. If for two attributes A and B, the class|24. What are the probabilities of selecting a
frequencies hold the relation zamplg of SSIZRES‘:Vfl;om t:esl;;)g&rlgtﬁon th;“": 1(}
N . y using an method o
(AB)ab) = (Ab)aB), then what is the value sampling respectively ?
of Q (the coefficient of association) ? (a) 1/10000, 1/200
(a) 1 (b) . 1/500, 1/210
(b) -1 (¢) 1/10000, 1/210
(¢) O (d) 1/500, 1/200
(d) None of the above 25. The variance of the mean of a simple random
sample drawn without replacement from a
) population of 40 units is S2/10, where S? is
21. Let' X and 'Y be two independent random the mean sum of squares of the population.
variables with zero means and standard What is the size of the simple random
deviations 9 and 4 respectively. If X + 2Y sample ?
and kX — Y are uncorrelated, what is the
value of k ? (a) 20
(a) 0O (b) 5 .
b 1 () 10
) (d) 8
(c) 32/81 26. A population is divided into 4 strata of size
d) 64/81 (20, :?.0, 40, 50) having variances ('1, 2,3,4). A
stratified random sample of size 28 was
drawn using proportional allocation. The
22, A simple random sample without replacement sample strstm: Sl §¥o
of 3 units is drawn from a population of (@) 4,4,8,12
5 units. What is the probability that both the (b) 4,8, 8, 10
ﬁrst and’ the last population units will be (© 4,66, 12
included in the sample ?
(d 4,6,10,8
(a) 3/10
27. Let X, X,, ..., X, be a sample from N(y, o2).
(&) 1/20 Then consider the following statements :
© 2/5 1. The statistic T(X,, Xy, .., X,) = (X, S?)
(d) 9/20 is jointly sufficient for (p, o2).
2. X is not sufficient for p when o is
23. IfN =100, n = 10, p = 0-6, then what is the anknown.
& A . . f t l 5
vanan(.:e o P “ignoring -finile’ (RIL 3. S% is sufficient for o> when p o is
correction (fpc) 7
unknown.
(a) 002667 Which of the above statements are correct ?
(b) 0-02424 (a) 1,2 and 3
(c) 004242 (b) 1 and 2 only
(¢) 2 and 3 only
d) 02424 (d) 1 and 3 only
N-DTQ-K-UVC (8 -A)
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20. R A i A3k B S fw, of eR@RaBt 3
(AB)ab) = (Ab)(aB) @ &, d@ Q (wEad
TUTidh) BT A FT & ?

(a) 1
(b) -1
() 0
(d) IS F F B T

21. #F Afe & X sk Y @ W achos w &

o mem g ik wee  free w9 ok 4
g1 aRX+2Y 3R kKX -Y ¥ oF weamy
W E, A k B A g @ 2

(a) O

(b) 1

(c) 32/81

(d) 64/81

22. 53PEdl o Wit ¥ & 3 3Rl @1 R Ra

% W aigfees faee forar sar @ | gwed @
wiRwar 2t & wwie & mm 3k w2
gorsdl wfcest ¥ wmia & 7

(a) 8/10

(b)
(c)

(d)

1/20
2/5
9/20

23. RN =100, n = 10, p = 06, a7 R Tfie

WY& (fpe) @1 e & ® p @1 RO @@
g7

(a) 002667

(b) 0-02424
(c) 0-04242

0-2424

(d)

N-DTQ-K-UVC

25.

26.

27.

(9 -A)

10 & 3R @ Wle ¥ A 4 F FGR B wREd,
feeas @ ®wer SRSWR 3k SRSWOR faferaf
BRT g & it @ar & ?

(a) 1/10000, 1/200

(b) 1/500, 1/210
(¢) 1/10000, 1/210
(d 1/500, 1/200

40 3orgdl B wafe # ¥ s e @R oge
We agfes wiesl & wed @ wRer 82710 @,
SeT S? Wl & @it & dmea & W # | e
argfea® vt @1 s @ar & 7

(a) 20

(b) 5

() 10

(d 8

vE FHRE B (20, 30, 40, 50) WY F 4 W F
fawnfora fosam srem & e wewor (1, 2, 3, 4) & |
Iufos Faes )1 28 smm @1 v wRa
;@%ﬁuﬁaﬂﬁmvml wfcrest wR & 3T T

?
(a)
(b)
(c)
(d)

4, 4, 8,12
4, 6, 8, 10
4, 6, 6, 12
4, 6, 10, 8

M A X, X,, ..., X, U® wfee & Ny, o2)

A | @ PrafeRea sl = R Hfwe -

L wfeedfst TX,, X, .., X)) = (X, $?) wge®
| & (n, 0% ¥ e

2. X yafe 78 & p & fw, 5@ o2 3@ 2 |

3. c2$.m32m%mumgl

30 # & P d U W@ E 2 '

(a 1,23KR 3

(b) &am 13 2

() ®aa 23K 3

(d) aw 13k 3

Dream Dare Win
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Given f(x,y)=xe*T+): x y>0.
What is the regression curve of Y on X ?

(a) x+y=1

(b) x-y=0
(c) xy=1
(d) x-y=1

The random vector (X, Y) has the joint pdf

2-x-y, 0€£x<1,0<y<1
f(x,y) =
0 otherwise

What is the covariance between X and Y ?
(a) 1/14

(b) 1/120
(c) -1/120
(d) -1/144

If rank correlation coefficient is —1, then what
is the sum of ranks for all the n pairs of
observations ?

(a) nn-1)
(b) n?
(¢) nn+1)

(d) None of the above

Which one of the following is the distribution

of ( R? )(_li—_p) when population multiple
1-R%2 )l p-1

correlation coefficient is zero (where R is the

sample multiple correlation coefficient) ?

(@) Fy_p -1
® F,_1N-p
© Fyn_pp

& Fx_pp-2

28. The statements below relate to a sufficient |31.
statistic based on ‘n’ random observations
from a uniparametric family of distributions.

1. A sufficient statistic is unique.

2. If T, and T, are sufficient statistics, then
each is a linear function of the other.

3. If T is sufficient and f(T) is a one-one
function of T, then, f(T) is also sufficient.

Which of the above statements is/are correct ? .

(a) 1 only

(b) 2 only

(¢) 3 only

(d) 1,2and3
29. Let X, X, .., X bea random sample of size
n taken from the population, where pdf or pmf
is f(x, ). An estimator T = T(X,, X,,, ..., X ) is
said to be sufficient for 0 if
1. the conditional distribution of X, X, ..., X|
given T, is independent of 6. 33.

2. it contains all the information in the
sample about the parameter 6.

Which of the above is/are correct ?

(a) 1 only

(b) 2 only

(¢) Both1and 2

(d) Neither 1 nor 2 34.

30. A random variable has values +2 and -2 with
equal probabilities. What is the variance of
(83X -4)7?

(a) .36
(b) 12
() 8
(d) 4
N-DTQ-K-UVC (10 - A)
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28. frafofed U=, v vea-wafee 47 & oo & |31
‘n’ Ugfkes Jevl W R vafe wReeds @

g € |
1. vai il sfeda 2

2. TR T, AR T, wha e ¥ @@ v

TR &1 s e ¢ |

3. ofe Tl & 3R £(T) v&-vd G & T &I,

aq, f(T) 9 vafa & |
39t B # ¥ B TR w2
(a) ®&ad 1
(b) &ae 2
(c) &aa 3
d 1,23R3

29. "W @fow X, X, .., X W ¥ fmn g0 n
IBR B aghes el ¥, SEf pdf W pmf,
fix, 0) & | & IHe® T = TX,, X, ..., X)) B

0 &1 Tafa &0 afz

32.

L X, X, .., X, & wfdewr deq, safe T (33,

fear @, 6 ¥ w@a= 2 |

2. 399 wfoeel #, woe 0 & AR F Wl guan

It & |
30w ¥ B R w2
(a) &ad 1
(b) &aa 2
(© 13k 224
(d Tdr13iRaIH2

80. Uo UghEd W & U WiaEaEi & WY 7 +2

U281 (3X-—4) P RRUT T & ?

34.

foar T & f(x, y) = x e X0+, x,y>0.
Y &1 X W HHI50T a5 ol @ ?

(a) x+y=1
(b) x-y=0
(c) xy=1

(d x-y=1

argfees wfewr (X, Y) &1 6w pdf &

2-x-y, 0x<10=<y<1
f(x,y) =
0 =

X 3R Y &1 wevERor qar & ?

(a) 1/14
(b) 1/120
(¢) -1/120
(d) -1/144

e PfE wewraw Uie —1 &1, @@ o n gt &
Yeoit & foe Pfeat &1 dmwee Far & 2

(a) n(n-1)
(b) n?

(¢) nn+1)

(d) 394w § | B &

e Wi sgEEwEw Ui @ 8, @@
ﬁm%ﬁaaﬁa,( R’ ][M]aamaah

1-R*){ p-1
a2 ? (@ R wfteel ag-weway o )

@ 36 (@ Fy_p -1
b) 12
(b) ® F,_y nop
8
© © Fy_pp
(d) 4
@ Fy_p ooz
N-DTQ-K-UVC (11 - A)
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35. In a tri-variate population with variable X, |38. Which one of the following statements is not
X, and X,, it is given that the simple correct ?
correlation between any two variables is (a) :_n case of two stage slampling if every
irst stage unit of population is sampled,
equal to 1/2. it reduces to stratified sampling.
Consider the following statements : (b) In case of two stage sampling if every
first stage wunit is  completely
1 1-R2,, =2/3 enumerated, it reduces to cluster
: 1.23 ' sampling,
2. ry.=1/3. (c) Systematic sampling is equivalent to
123 stratified sampling, where one unit is
. ) ’ selected from each stratum of k
Zg:::t gf the statements given above is/are consecutive units (N = nk).
(d) Systematic sampling is equivalent to
(a) 1 only cluster sampling, where one cluster is
selected at random out of k clusters of
(b) 2 only n units each (N = nk).
(¢) Both 1 and 2
39. If coefficients of variation of the two variates x
(d) Neither 1 nor 2 and y are equal and p denotes the coefficient
of correlation between x and y, then ratio
estimator of the population mean is more
36. In order to fit a polynomial of degree k how e'fficient than the mean of an equiYaIent
many summations are to be computed over simple rant_lom sample drawn without
b P K Aot e replacement if
n observations east squares e?
0 ions by q princip @ p=03
(a) 2n (b) p= 0-4
(c) p=05
(b) 2k @ p=06
(c) 3k+1
40. Consider the following statements :
(d 3n+1 _
1.  The bias of ratio estimator for Y
becomes zero if the regression of y on x
37. Unbiased estimation of the variance of passes through origin.
estimators for population mean is not 2.  The ratio estimator of population mean
posible in is more efficient than sample mean
when p > 0 where Pyy s the
(@) SRSWR | correlation between y and. X.
Which of the above statements is/are correct ?
(b) SRSWOR (a) 1 only
b) 2 onl
(c) Stratified sampling (b) only
(c) Both 1 and 2
(d) Systematic sampling (d) Neither 1 nor 2
N-DTQ-K-UVC (12 - A)
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35.

36.

37.

N-DTQ-K-UVC

T feR e & frd @ X, X, ik X, &, Ran
T g 5 FE & ven we wewe 1/2
FREE

Frafafea sl ) frar Hifse

1. 1-R2?

1.23 = 2/3.

2 1= 1/3.

IR B A B TR e 2
(a) &ae 1

(b) det 2

(¢) 13R 23

d Tdr1skad2

k B & v Tgue B Wil o & fore =gew
gt fagra g1 n Yeol & fean dveer sfirsfea
e

(a) 2n
(b) 2k
(e) 3k+1

(d) 8n+1

afe " & Weedl d OWRRUT B FEREd
Hder foed woE 78 &

(a) SRSWR

(b) SRSWOR

(¢) wRa wieraa=
(d) PHaE FidEaaT

38.

39.

40.

(13 - A)

freffea i f A s oo v 78 & »

(a) fE-w=or wferege o o wofe & W wm
WUl B R whiela €, a8 wika wkaas
¥ w8 S @ |

(b) fwRur vfoaos § ok e w=m wmor &
so§ e oRfora &, o' 1o wimaw
T & S & |

() wwag fraa, WRa e & gea &, st
k HUNE 3HRAT $ TS WK § UD OB
TafE & JT (N = nk) |

d) FHEE wkraeE, T wieaE & gea @, e
n R4 & k TE F A 0 [w agReD
Tafa fsan S @ (N = nk) |

afe 2@ i x 3R y & frexor qoie wae €, 3k

p Wi¥a &ar & x 3R y & 7w weway Pie

@, d9@ wH, vownw e Few wo o

argfes sfaeel & wer ¥ wafe wem &1 U

eSS s 2&r 8, afe

(a) p=03

(b) p=0'4

() p=05

d p=06

Frafefes seet w faar Sifse -

1. Y & 3gua smaes o st g @nl
e y & x R FHHa0 gefaeg | dax s
Gl

2. W WET @1 U HHa® Hoee Area
mfﬁasa&ramaapxy>oaﬁpxy,yaak
X & WO B WEEE ¢ |

g Tt F ¥ B A w7 2

(a) ®ad 1

(b) HaIe 2

() 13k 2aFt

(d Adr13RaT&2

Dream Dare Win
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Let X have a continuous distribution with
mean p. We make n observations X, X, ..., X
vy Y, ), where Y,

1
’

but note only (Y,

according as X;<porX;>p; i=1,2,..,n

- 2Y
Then Y=—21 is
n

(a) UMVUE of p
(b) UMVUE of 1/u

(¢c) Unbiased for P(X<p) but not a
Minimum Variance Estimator

(d) UMVUE of PX < p)

Let (X;, X, ..., X)) be an iid random sample

from N(©, 1) and T=X° - 1

n
Consider the following statements :

1. T is MVU estimator of 62.

2. Var(T) equals the Cramer — Rao bound
on variance of estimators of 62.

3. T is consistent for 62.

Which of the above statements are correct ?
(a) 1 and 3 only

(b) 2 and 3 only

(c) 1and 2 only

(d 1,2 and3

In estimating a parameter 0, U is an unbiased
estimator of 6 and T is a sufficient statistic.

Consider the following statements :

1. E(U|T) is an unbiased estimator of 0
which has a variance not exceeding the
variance of U.

2. If T is completely sufficient, then E(U | T)
is the unique UMVU estimator of 8.

Which of the above statements is/are correct ?
(a) 1 only
(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

45.

Suppose X is a continuous random variable
whose probability density function is given by

c(4x—2x2), 0<x<?2
f(x) =

0 otherwise

What is the value of P(x > 1) ?
(a) 1/5
(b) 1/4
(¢ 1/3

(d) 1/2

Let X have the distribution function :

o
"
A
o

F(x) = , 0=x<2

—- b

E]
v
[

and let Y = X2
PIX < 2Y) ?

What is the value of

(a) 3/4
(b) 1/2
(¢) 1/3

(d) 1/4

N-DTQ-K-UvC (14 - A)

T 0 e e . U, i s i
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" AT X &1 wed p aen ve Wad ded @ |
T X, X, ., X, n e fer dfew daw
Yy, .., ¥,) 3ifed fear, 5@ v, = 1 ar 0 sk
& Xi<pa X>p i=1,2 ..,n @@
?=&am??
n
(a) p & UMVUE
(b) 1/u & UMVUE
(© PX<p) @& fore smfima afes <mem swror
B el
(d) P(X <p) & UMVUE
7 effse f Neo, 1) ¥ forar g (X, X, .., X))
vs iid agfios Wi 3R T = X© -

frfofaa Tl ) R Hife

1. T, MVU 3m&as & 02 & |

2. 0% ¥ o B R B BT Var(T)
PR — @ TY S FHA N |

3. Tumeo’s fow |

I9GTH B A A B A W E P

(a) ®ac 13K 3

(b) wad 2 3R 3

() ®am13k2

(d 1,23R3

WIEd 0 BT BeH o ¥, U 3FfiEd sndes & 0

&1, 3R T &1 v wfeestsr & |

fr=fofes st = faer St -

1. EU|T va sHfimd smeos & o &1, B
TEROT U & WeRoT ¥ it 78 & |

2. dfe T yidar wia &, @@ E(U | T) sfda
UMVU 31&as & 0 &7 |

I U F ¥ B A wd & 2

(a) Fad 1

(b) Fad 2

(¢ 13K 23

@ Far13diRaIS2

=N

WWW.jeywin.com

4. WA W X & Had acfes w ¥ Bwe

45.

(15 - A)

wiiar 99 Bee fear wan #

c(4x—2x2), D<x<2
f(x) =

0 F=aar

Px>1) STAA &1 & ?

(a) 1/5

(b) 1/4

(¢ 1/3

d 1/2

o
»
A
o

F(x) =

- DM

"
\"
V]

R 7= @fe v =x2
g2

(a) 3/4

P{X < 2Y} &1 71 &1

(b 1/2

(© 1/3

@ 1/4
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A random sample of size n is taken from a
population with p.d.f. f(x) = e*, x > 0. What
is the p.d.f. of sample range R ?

(a) gr)=Cln,r)p'q" ", r20,p+q=1
) gr)=(m-DeT(l-eM""2 r>0
() gm=neTA-eM" r>0

(d glr)=ne™, r>0

Consider the following statements :

1. Analysis of variance is a systematic
procedure of partitioning the total
variation present in a set of data into a
number of components associated with
the nature of classification.

2. In linear hypothesis model the true
value of i® units is a linear combination
of the fixed effects treated as constants.

Which of the statements given above is/are
correct ?

(a)
(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

1 only

In a two-way classified data, with m rows and
n columns, the (i, j)th cell has nij-observations.

Consider the following statements pertaining
to the analysis of these data :

1. If n;; values are not equal for all the
cells, the data are non-orthogonal and
the usual ANOVA cannot be used.

2. If the entries in each cell are replaced
by the mean of the observations in that
cell, the data become orthogonal and
thus ANOVA as usual can be used.

Which of the statements given above is/are
correct ?

(a)
(b)
(c) Both 1 and 2

(d) Neither 1 nor 2

1 only
2 only

46. If X is a random variable for which 50.
PX>a+s |X>s)=P(X>a),fora,s>0;
then which one of the following is correct ?
(a) X has Bernoulli distribution
(b) X has Binomial distribution
(c) X has Geometric distribution
(d) X has Poisson distribution
47. X and Y are two independent yx? random 51
variables with 4 and 6 as their respective |“ ™"
degrees of freedom. What is the mean of
Z = 3X/2Y ?
(a) 2/3
(b) 3/2
() 3/4
(d) 1/3
48. If X, X,, .., X,5 is a random sample from
" normal population with mean 0 and
17
Y x?
. 8 ¢ 1. .
variance 1, then T = — % is F variate
TS
18
with parameters
(a) (17, 8) 52.
(b) (17, 25)
(c) (25, 8)
(d (8,17
49, Which one of the following pairs is correctly
matched ?
(a) Mean for a nin+1)
x2-distribution with
n degrees of freedom
(b) Skewness of (n-1)
t-distribution with
(n — 1) degrees of
freedom
(¢) Mode of F-distribution <1
(d) Characteristic function (1-it)™2
of %2-distribution with
n degrees of freedom
N-DTQ-K-UVC (16 - A )
D i b s s o i s ¢ i
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46. Ul X vF agfens =X & s e 50. n MU & v TGhEE Whed vH wARe X,
P(X>a+s|X>s)=P(X>a),€Iﬁa,s>0; ﬁiﬂﬁ[p.d.f‘.f(x):e‘x,xzoﬁ,%mﬂmgl
aa Preferia 3 & @ w1 s T @ 2 wftraet T R @1 p.d.f. 7 @ P
(@) X & Fen deA @ (@) g)=Cn,1)p'q" % r20,p+q=1
(b) X o fgug deq & (b) g(r)=(n_1)e—r'(1_e—r)n—2’ r>0
(© X @ iR ded & (¢) glr)=me™(1-eM" r>0
@ X @ @ ae & @ g =ne™, r>0
47. XaﬂzYa‘tmﬁu@ﬁ%ﬂ?.%ﬁa&sL Ry e e it _
e Pt maer 4 3R 6 # | Z = 3X/2Y @1 L R fawewor ve aw wemg F sufem wgof
@ 2/3 wal ¥ fawfse 59 & w srez wiar
g1
®) 3/2 2. aw Raeg el § i sordl o1 w
(c) 3/4 7 Reri®! & w0 # 99 31 art Fraa waat
@ 1/3 &1 s wae= ¢ |
48. e X, X, .., X, VW e ¥ S ()@ a::’rﬁﬁa@hmmm?r%/é?
a 1
uﬁﬁwnﬁaﬁlvéﬁmmoaﬂtm 1_%, &) b
X? () 1 2 ari
, 2 o 2 26
G T=1—7215 ) f&7 waer & @ FfaeR @ TFar1sikaS2
X
% ! 52. vua fgen affpa sifest #, e m dReat 3R n
&5 m?.(i,j)“‘aﬂ%aﬂﬁnijﬁw%l
@ (17, 8) 3 el & favawor ¥ wafea FrafRea st
b a7, 25) T
© (25’8) 1. u&aﬁaﬂf&maﬁ%%e%ﬁmmﬁqﬁ
@ @ ’17) g, di®e smaa= € 3R WERYT ANOVA
' TG e P 51 T & |
49.  Frferiaa gl 3 ¥ B 1 v W g # 2. IRy ot ¥ sffcdl 59 e &
(ﬂ.) nwmﬁ)— :n(n+1) ﬁm*m%ma&mg,m
Y240 @1 ea Hﬁaa‘rmﬁ%aﬁ'\fsﬂmm
ANOVA TP
(b) (-1 W dRA (- 1) .‘Fﬂ?ﬁ el 4
¥ t-de T ey I0ges BUET F W B /R @ 2
(c) F-deca &1 agemd <1 () a1
(d) n @R P B (1 —it)y™2 (b) - 7.2 _
xz-a't‘-rairaaﬁmaiﬁm (0 13K 2=
G d TFar1sRa&2
N-DTQ-K-UVC (17 - A )
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53. Consider the following linear functions |55.
between four treatment totals T, (i=1, 2, 3, 4)
based on r replications :

1. Z,=T,-T,
2. Z,=Ty3-T,
3. Zy3=T; +Ty-Ty;-T,
4 _ T, +T, =
‘ 4 9 3
56.
5. Zg=T, +T,-2T,
6. Zg=3T, + 5T, - 2T,
Which one of the following statements is not
correct ?
(@) 1 and 2 are mutually orthogonal
elementary contrasts.
(b) All are contrasts.
57.
(c) 4 and 5 represent the same contrasts.
(d) Treatment sum of squares (S.S.) is
equal to the S.8. for Z, +S.S. for
Zy + 8.8. for Z,.

54. In an experimental design, it is assumed that
different effects are additive in nature. If data
consist of small whole numbers, for which the
treatment mean and variance are |58.
proportional, which one of the following
transformations of data is ideal before going
for statistical analysis ?

(a) Logarithmic transformation
(b) Square root transformation
(¢) Angular transformation
(d) Reciprocal transformation
N-DTQ-K-UVC (18 - A)

In a Completely Randomised Design with
5 treatments, the degrees of freedom for the
error is 16. If the replication numbers for the
treatments are r; = 3, 1y =4, 1y =4, 15 = 5,
then what is the value of ry ?

(a) 2
(b) 3
(c) 4
(d 5

Let a random variable X assume the values
0 and 1 with probabilities & and (1 - 0)

respectively, % < 0 £ 1. Then, what is the

maximum likelihood estimator of 8 on the
basis of a single observation X ?

(a) (1+%X)
(b) (1 +X)/2
(© (1-X)/2
d 1-X

Consider the following statements :

1. Maximum likelihood estimators
consistent.

2. Maximum likelihood estimators need not
necessarily be unbiased.

Which of the statements given above is/are
correct ?

(a) 1 only
(b) 2 only
(c) Both 1and 2
(d) Neither 1 nor 2
The density function of a random variable X is
given by
fix,0)=0e % 0<x<e,

What is the 95% confidence interval for 8 ?

are

(a) X i%i
(b) ii.%%
© xJnt 1\'/%%
@ [11 %]%

Dream Dare Win
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53. r wfopldl w smenRa TR Jyar ami 55. 5 3Rl & ve Pf ugadipa sfew ¥, IR &
Ty (=12 3 4% dv Fraffes Res s W Biie 168 | aft JwaRt @ sfphy wend
R frar B =3, ry=4,1r,=4,r; =5¢, A r, B 94 FUq
1L Z,=T,-T, g?

(a) 2
2. Z2=T3—T4 b) 3
8. Zy=T, +T,-Ty-T, EZ)) ;
4 —T1+T2—T
AT g 3 56. WM Wfow agRoe W X, wReaw swWer 6
5. Zg=T, +T,-2T, AR (1 -0 F w A" 03K 1w B &
N ZG=3T1'+5T2_2T3 %seslﬁlﬁ,t{mﬁmxﬁmw
HSA® 0 B Heww wAd Hed T & ?
Prefife § & B W1 oo wu w@ I & 0 @ R
(b) (1+X)/2
(@) 13R 2 3= difes TRivs foafe & | © (1-=X)/2
by i R & | d a1-X
@ 43R 5w Avate o PR o g [0 oo e o e B
1. weaw gefad snees dra € |
@ @it & 3Rl & A (8.8, Z, B 2. JNEEEd R 6 veww gRnfad ee® s
S.8.+ Z, ® S.8. + Z, B S.8. & WK & |
g1 I HUA W B A w2 e
(a) oad 1

54. s v Afiew ¥, a8 RER fear wr R ® Mz
Rftm e wpfr ¥ dea & 1 R ofed g|  © ARz
et % a3 & s B R W ok weo| 0@ T LARAN2
arqufis &, Peaffas § ¥ @ @ ve, aitee |58 mmxmmew%

. flx,0)=0e "% 0<x<oo,
:a;,”%”':”' ey Ry ¥ o 0 BT 95% Reawiiaen s @1 & ?
. (a) iil—'%i
Vn
(a) CTYOTHIT FUFEROT ki 196 1
Jn ¥
(b) & T FIIROT
@ zhels
(¢) W HY=ROT Vo
1-96 ) 1
@ [1zx~—4=]|=
(d) SGEHA TR [ Jﬁ]i

N-DTQ-K-UVC (19 - A)
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59. Let X, X,, ..., X) denote a random sample [61. Let X be a discrete random variable for which
from the normal population N(u, o?). Let

a
Pgy1 = Py
o n = k+1
Y X, ¥ X, -X)?

- = where p_ =P X =k}, k=0,1,2, ..
ﬁm‘.herX=Land82=l———-— :
n n
. sy 3 ?
Also Tt x?x : deiide the upgicr o:patutuliin Then which one of the following is correct ?
chi-square distribution with n degrees of (a) X has Bernoulli distribution
. G ) 2
freedom. It is desired to test Hy : o = O (b) X has Geometric distribution

against H, : o? = crf (Gf > Ug) at level of
significance a.

(¢) X has Binomial distribution

(d) X has Poisson distribution
Consider the following statements :
L ]

1. H,is a simple hypothesis. 62. It is observed that forty percent of the bulbs
supplied by a company are defective. The
2. H, is a simple hypothesis. pu;chz;]se 1:)fﬁcer opens a box of six such_bulbs
. and chec bs lflaCh onebeof tl}err:l. fWhat. 1; tll};e
i L a2 2 o most probable number of defective bulbs
3.  The critical region is 8“ > Xa; n-1 —ng. found in the box ?
(a) 1
Which of the above statements is/are correct ?
(b) 2
(a) 1,2 and3
(¢) 3
(b) 1 and 2 only @ 4
(¢) 1 and 3 only
(d) 3 only 63. Suppose that the probability that an

individual suffers a bad reaction from
injection of a given serum is 0-001, and
suppose that 2000 individuals are being given

60. Consider the following assertions about Ao
the injection.

P-value :

Consider the following statements :
1. The smaller the P-value, the stronger is o,

the evidence against Hy, 1. The expected number of individuals who

. ; . suffer a bad reaction is 20.
2.  For given a, we reject H if P-value < a.

2. The probability that not more than

Which of the above statements is/are 2 individuals will suffer a bad reaction is

correct ?

4e2
(a) 1 only . Which of the above statements is/are correct ?
(b) 2 only (2) 1 only
(b) 2 only
(¢) Both 1 and 2 (¢) Both 1 and 2
(d) Neither 1 nor 2 (d) Neither 1 nor 2

N-DTQ-K-UVC (20 - A)
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59. wWH ABE (X, X,, .., X,) TGRS dfee |61 T A X vs fafees agfes W & s foe
ofar & o 5 waw=a @l N(u, o) ¥ femn pi=—2p
. k+1 k+1 k
2z X =PX=k], k= 2
™ & | I owE @fwe X = o 3R T py=PX =k, k=012 ..
n R i IR & ?
5 (X, -X)? (@) X @ a5 de
§? - izl | @ ww Afw B : a@_
n (b) X & TUIR de7 &
xi,n n W B & eEat d F I (¢) X @ fgue dea &
afeg @ wffia o=ar 8 | o WRiGA ¥R W, @ X a9 2
tlﬁ&TUTHo:cr=csg @I,
H, : o = 0% (6} > of) & fovg w0emr o0 (g2, e 2 f5 v oot grr g el # ¥ A
sfma | wferg dcw @R € | BU FUOKT Y ¥ qedl & oA
_ vs g B @ 3R I A ude @ St | a
Prafefad Bl o faar B : A g ERE Tl ) waitts wikie e & @ ?
1. Howwmqﬁmm?1 @ 1
2. H, vd qoRoT aRaed T ¢ | ) b 2
3. Wit e Sz>xi;n_1%0 © 3
(d 4
I BT § ¥ B /A T R ?
@ 1,233 63. = A, e wfs 5 R A b SO X
® w132 Sfirper s & W 2 ) R 0:001 &,
(c) e 131K 3 3R W AT a8 g 2000 AR @ Rar
(d) &ad 3 IR |
60. P ¥ watwa FefefEd sfiewEl ® fEr FrafaRead syl ) R Hifsw -
Hifsre - 1. s wRfsar & wi @ @ @fsdl B
1. Pu @ eer &, Hy & fiog wea wrnfaa W 20 & |
R , o su am @ s B A ¥ s @
2. ﬁEgEuéi%quHoa?rsxﬁmaﬂﬁuﬁ' WWQW@%‘lB_z%l
- <
- _ s oo 3 X B R @ A 2
3w ol F F B A wE RE 2 @ a1
(a) &ad 1
(b) a2 b) Fw2
© 13K 23 (¢) 13k 2aF
@ TA13IRAD2 @ Fd1ARTA 2
N-DTQ-K-UVC (21 - A)
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The coefficient of variation becomes p times
when every observation is halved. What is the
value of p ?

(a) 1/4
(b)) 1/2
() 1
(d 2

In randomized block design with k treatments
and two blocks with means B, and B,, which
one of the following is the correct sum of
squares due to blocks ?

2
(B, - B,)

(a) X

2
(B, - B,)

(b) ok

2
k(B, - B,)

(c) 2

2
(B, - B,)

(d) 3

If N is v x b incidence matrix of a block

. design with v treatments and b blocks such

that NN = J__ (J,, denotes v x v matrix of
unities) then the block design is

(a) CRD
(b) RBD
(c) BIBD
(d) None of the above

64. Let Xl, X, be independent and identically |67.
distributed random variables with
distribution function F having positive mass
at 0,1, 2, ...... and let U; = max (X, X,) and
Uy, = X, - X,. For which distribution is
PU =} Uy, =0 =PU, = . PU, = 0)
valid ?

(a) Poisson

(b)  Uniform

(¢) Binomial

(d) Geometric 68.

65. What is the probability distribution of sample
range ‘R’ for a random sample of size 3 drawn
from U [-3/2, 3/2] ?

(a) 9r(3-r)2
(b) 2r(1-r)/3
(c) 2r(3-r)/9
(d) 3r(3-r)/2
where 0 <r < 3.

66. In a life test involving 25 electric bulbs, which
of the following methods produce type 1
censored samples ?

1. Take observations on life length from
150 hours onwards.
2. Take observations on life length until
800" hour.
69.
3. Take observations on life length from
10" failure onwards.
4. Take observations on life length upto
20 failure,
Select the correct answer using the code
given below :
(a) 1,2 3 and 4
(b) 1 and 2 only
(c) 3 and 4 only
(d) 1 and 3 only
N-DTQ-K-UvC (22 - A)
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64 WM ABE X, X, WA qu wHeedr dieq |67, T RaOr B snen S W RreRor i p A A
agfee W & BFer @ wew F ? 3R S| pH AR TR ?
0,1, 2, .. R 4-IHs oA &, 3R 7 difore
U, = 3R (X, X)) HR Uy =X, ~ X, & | (@) 1/4
fsw e & fere (b) 1/2
P(Ul —J, Uz—o)—P(Ul—J)-P(Uz-O)
dug e (© 1
(a) @t @ 2
(b) UHEHH
(¢ fu= .
s 68. k 37ERi 3R & wuet &, 5% W B, 3k B, €,
@ S UgRed Wvss ey ¥, wusl @ aeE 9,
frafefaa ¥ § 3 w1 ve i &1 dea wE E P
65. U [-3/2, 3/2] ¥ ¥ T 3 I & TS A(RBS
yResf & el W R @1 witiear dea @1 @ 2 (B. — B.)2
1 2
@ 9r(3-r)/2 @ —
2r (1 - r)/3
() 2r(1-r)/ (Bl—B2)2
() 2r(3-1)/9 (b) R
(d 8r(38-r)/2
SE0<r<3. (c) k(Bl_B2)2
- 2
66. U sia wawr ¥, i 25 R e wwifea €,
frefofaes Rt & ¥ a9 @, @R & (31_32)2
avs-afs wfieet @1 R & ? @ =g
1. 150 G2i ¥ M " g & Ve o |
2. 8003 v aw e T BT HeT I | 69. fE v 3TER} 3R b @vel & @vs AfdE B v x b
3. 108 IrerT B 3 ¥ o s B Neor Fe JegE N &, 3R gk NN = J,, J,, W
| T & v x v FOR YR a9 WUs Hfded T
4. 208 JGEAT d& T s Bl & & | &?
PrafeRact e 7 ST @ TR IR R - () 8D
(a 1,2, 33K 4 (b) RBD
(b) ®aa 13R 2 (© BIBD
(¢) ad 33k 4 5o o
d) 3IRE
(d Faw13R3 “@
N-DTQ-K-UVC (23 -A)
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70. In the analysis of a set of two-way classified | 73.
data, involving the factors A and B, with one
observation per cell, the factor A has 9 levels
while the sum of squares due to error carries
72 degrees of freedom. What is the number of
degrees of freedom carried by the sum of

squares due to the levels of B ?
(@ 7

(b) 8

() 9

(d) 10

74.

71. If in a randomized block design, 5 treatments
are allocated in 4 blocks, where each block
contains all the treatments, then which one of
the following statements is correct ?

(a) The number of plots is 20 and number
of replication of each treatment is 4.

(b) The number of plots is 20 and number
of replication of each treatment is 5.

(c) Only the principle of randomization is
used in the design.

(d) The principle of replication and two-way
local control is used.

72. One observation is drawn from a population |75
with pdf as

al-x*1 0<cx<1
f(x,o) =
0 otherwise

for testing H : @ = 1 against H:a=21f
the critical region is x > 0-75, then what is a

equal to ?
(a) 0-22
(b) 025
() 0-50
(d 075
N-DTQ-K-UVC (24 - A)

_

Let PX=1)=0=1-PX=0):0<0<1.
Reject H; : 6 = 2/3 against H,:0>2/3 if
X = 0 and further, reject H, if no head occurs
in tossing of two unbiased coins when X = 1.
What is the size of the test ?

(a) 2/3
(b) 1/2
() 1/4
d 1/3

Consider the following statements in respect
of the two types of errors (o, B) of a test
procedure :

1. It is not possible to minimise o and B
simultaneously, since one generally
increases with the decrease of the other.

2. In the classical tests, greater protection
is given to a.

Which of the above statements is/are correct ?
(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

A scientist inoculates several mice, one at a
time, with a disease germ until he finds two
that have contracted the disease, If the
probability of contracting the disease is 1/4,

what is the probability that 5 mice are
required ?

(a) 135/512
(b) 27/64
(c) 27/256

(d) None of the above

Dream Dare Win 24
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70. S wwd & fgur aniigpa sifest & fawewor #, (78,
ot A 3R B 3uem wafea € ve Yewr ufy
PIHT & T, IJEH A F 9 TR & a6 I A
3= @it & ANTEd B 72 WA= Bifedl & | a8 39
W= Dfeal & Tea 71 & S B & WRI & SROT
3o9= it & ATBer gRT el T @ ?

(a) 7
(b) 8
(c) 9
(d 10

7. U6 Ugfee @os st #, 4 @l F 5 3wER |,
FEfa foe e ¥, St v @vs § wh IR €|
T fffea s A M o v & ?

(a) W@vsl B W@ 20 g 3R RS IER B
wforpler & W 4 & |

(b) s@vel & W 20 & IR RS IR H
s B < 5 & |

(c) ¥aw agediaxvl & Regra sfiees § wgw
2

(@) vl &1 fema ik o wreg Foso
g € |

72. Us wAfe ¥, Grger pdf FrafeRea €, v dewor

foram mar
al-x*1: 0sx<1
f(x,a) =
0 3= 75.
Hy:o=1 @I, H1:a=2$ﬁwﬁ&mﬁ|
ofe wifdd &3 x > 075 %, a9 o fFas W
go?
(a) 022
(b) 025
(¢) 050
(d) 075
N-DTQ-K-UVC (25 - A)

TAAMUPX=1)=0=1-PX=0;0<06<1.
ISR P Hy:0=2/3B1 H, : 0 >2/3%
forog aft X = 0 31k 3m H, 3 srdior difswe aft
a1 e fhewt @1 3Eem W @1 R (@) @&
3ME 57 X = 1. TRA&0T BT AT 3471 & ?

(a)
(b)
(c)
(d)

2/3
/2
1/4
1/3

v Wie ufgsar @ A yeR B Ffed (o, p) B Had

# Frefofea swE ) faar difwe

1. odRpD o WY FgIAH S T T
&, Tifé WURvIGaT 319 UH TedT € a9 el
TGl & |

2. donfaer wem ¥, o @ At wxeor G
& |

I oA H ¥ B R w4 e
Had 1

Bae 2

(c) 13R 22

(@ Td1dRTH 2

(a)

(b)

e d5fe 3 el I & Sham) & O Ew
fedt @, Hee IR, A IR PRt B
I o | afE I @ o wikear 1/4 &, &

5 gfedl & smavas g o wiftear @t @ ?
(a) 135/512
(b) 27/64
(c) 27/256

(d) 3w ¥ ¥ o @
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76. If X has the uniform distribution on the |79.
interval (-6, 8) for some positive 0, then what
is the mean of oX + B for real o and p ?
(a) a+p
(b) «
() B
(d) - (a+p)2
77. LetX and Y be independent random variables
each having uniform distribution in [0, 1] and
U = min {X, Y), V= max {X, Y}.
Consider the following :
1. P{V<x =x2
2.  EV) > E(U).
Which of the above is/are correct ?
(a) 1 only
(b) 2 only
Both 1 and 2
(c) 0 an 80.
(d) Neither 1 nor 2
78. If X is a random variable with pdf
-Xx ca-1
f(X,a)‘sEr_?T, x>0, a>0
then what are the mean and variance of X
respectively ?
(a) a,af2
(b) a/2, a
(¢) a,a
d a/2, a/2
N-DTQ-K-UVC (26 - A)

ANOVA table for RBD is given below :

Source of | 4. | 5. | MSS. | pevalue

Treatments | 2 21 10-5 | <0-05
Blocks - 5 30 6-0 < 0-06
Error 10 19 19
Total 17 70

Which pair gives correct F-value for

(Treats, Blocks) ?

(a) (5-53, 0-57)

(b) (175, 3-15)

(¢) (1-75, 0-57)

(d) (553, 3-15)

If in a latin square design involving

n treatments, all observations corresponding
to first row are missing, then which one of the
following is correct ?

We

(a) can estimate all the missing
observations

(b) We can’t estimate all the missing
observations

(c) We can estimate all the missing
observations only when any two missing
values’ estimate is provided in advance

(d) We can estimate all the missing

observations (n) only when n = 3

Dream Dare Win 26
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76. TR X BT (-0, 0) IR ¥ P oD 6 H|79. RBD & fow ANOVA wrolt Freferfiaa @ -
foe vowae deq 8, 9@ oX + p @1 Arem aAfas
3k p & fow ?
@R P g o T W@| df | S.S. | MSS.| puH
(a) a+p
IR 2 | 21| 105 | <005
(b) «
Qug 5 30 60 | <006
() B
10 | 19 19
(d) - (o +p)2 3%
QGE 17 | 70
77. WA a@fse X 3R Y, [0, 11 ¥ vewwm dfa
@ aefes ® & 9k U = < X, V), B | g/ (ITAR, @vs) & foe W@ F-am am 2
V = sftrsaw (X, Y1 & |
(a) (553, 0-57)
Frafofas w R $ifswe -
1. PiV<x =x% (b) (175, 3-15)
2. EMNV) > EU). © (175, 0-57)
394w | ¥ B w2
d) (553, 315
(a) oad 1 @ 65 :
(b) Faw 2
(© 13K 22+ 80. dft v dfta @f s ¥, Bt n IwER
' ofea €, wem dfts ¥ wafua @it dewr
@ TALIRIN 2 yoem &, 7@ Peeffad & @ B @ s @
g?
78. 9R X wo dgfes W & Wl pdf (a) &0 W Frgufra el &1 see aR HdHa
-Xx ,a-1 g
f(x,a) = @) , x>0, a>0
(b) T W SFuRYA Y&l B e AE ax
a8 X & Ay 3R gERT BHIT @ar @ ? .
(a) a,af2 (¢) & oW WUR Ui Vel @& e IR
b a/2, a Had € 5@ el & arquiRera Wl & e
' afim & Rar @
(e) a,a .
(d) & W srpEieE Yal (n) & @ AR
(d) a/2, a/2 HqHd & $acI 5@ n = 3
N-DTQ-K-UVC (27 - A)
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81. A confounded 2* factorial experiment with |84.
blocks of size 8 was conducted. The layout of
one of the blocks is given below :

n | k | nq|npk| p | kq [ pq | npkq
Identify the interaction confounded in that
replicate.

(a) NPKQ is confounded

(b) NPQ is confounded

(c) PKQ is confounded

(d) NPK is confounded

82. The accuracy of estimates after confounding in
sub-plots increases
(a) for main plot treatments
(b) for all sub-plot treatments
(¢) for all sub-plot treatments except those

which are confounded
85.

(d) for no treatments

83. Consider the following statements in respect
of Neyman — Pearson Lemma :

1. It is based on the assumption that
parent population or distribution is
continuous.

2. It provides most powerful test for
testing a simple null hypothesis against
a simple alternative hypothesis.

Which of the above statements is/are

correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

N-DTQ-K-UVC (28 - A)

WWW.jeywin.com

Let X,, X,, ..., X be random observations
from a normal distribution with mean zero
and variance o2,

Consider the following statements in respect of
the most powerful test for testing Hy:0=0,
against H, : 0 =0, (>0p):

1.  The best critical region is given by
n
D X12 > K, where K is suitably
i=1

selected to meet a given level of

significance.
S
2 X
2.  Under H,, ik follows a
2
%

x?-distribution with (n — 1) degrees of
freedom which can be used to find K.

Which of the statements given above is/are
correct 7

(a)
(b) 2 only

(c) Both 1and 2
(d) Neither 1 nor 2

Let

1 only

Xp Xy ., X, be a random sample

from N(u, o), where o2 is known. Let

. (X—uo)ﬁ

where X is the sample mean
and p,, is a fixed constant.

Consider the following sets of hypotheses and
the corresponding test procedures :

1. Hj:p < p, against Hy:p>y,

Reject Hy if T > Z,.
2. Hy:p2ppagainst Hy 1 p< Ho

Reject Hy if T<Z, .
Which of the above is/are UMP unbiased
test(s) ?
(a)
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

1 only
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82.

83.

N-DTQ-K-UVC

n | k | nq |npk npkg

34 wferphr § weRa siafisar & veafe |
(a) NPKQ woRa 2

(b) NPQ daRd &
(¢) PKQ ¥3Ra 2
(d) NPK #dafRa &

=]
=
K]
2

I-y@usl ¥ FHRA N & IR ndeHr @

gurfar § gfg & S @

(a) ¥ Y@UE ITARI & fore

(b) ¥t 3u-3@Us IERI & o

(¢) ¥ I0-yxavs ITURI & fow, s =% S
TR &

(@ & swR & e &

I - S WRer & gey ¥ FrafeRaa su=t
R fFar $if5we

1. 38 9 gRvn R 3menfRa & 5 gw wmfe o
deT Wad ¥ |
2. W dofues Rer & g Wa g

WReeq1 wWewr & foe waiftes siteene
QRIBI0T e &R & |

I B F ¥ B w4 2
(a) ®ada 1

(b) &aa 2

(¢) 13K 2aF

(d JIdr1aRTIE2

(29 - A)

m?hﬁﬂexl, Xy, ..., X,, UGRGS Ya01, FHERI
geA A, G s g 3R R o2 #, # |
H 10 =0 E[Hl:c_cl(>c)'&3m
uﬂwﬁ%uaaﬁhaswﬁ-s‘mﬁﬁqﬂmasmﬂ
frafofea st W ffar Sise

1. oo wifas &3 Rar mn @
ix?zx.aﬁm‘r‘mwﬁmmm
i=1
A 8g K & w& woH fvar man & |

$ x:
2. H, & €N, ‘“2 xdeT & Prad
So

W= Pfedl (n — 1) & BEa K &1 o
& & fore wyep fear s aewar € |
I0geh HoEl F N @l Ay ad & 2
(a) o&ad 1
(b) ®ae 2
(c) 13K 22F
(d T@r1skRa&2

e A X, X, .., X, U5 anhes wke

N, o) & 2 s@c?aad | ua e
_(i—uo)\/;
- (0]

Set X it sz 3R, @
e feris 2 |
Repeqanalt 3k s adveror ufsamsit & FrafaRea
wdl R faar difwe -
1. Ho:pSpo, lep>p0$ﬁiﬁ{,

H, & sesR 35w afk T >z .

2. Ho:pzpo,Hl:p<poaim,
H, ® 3di$R difowe afe T < Z, _, .

I5des § F B F/A UMP smfiea qdeor #7& »
(a) a1

(b) &ae 2

(¢) 13k 22

d Fdr1aka&2
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If a random variable X has a mean 12 and
variance 9 and an unknown probability
distribution, then what is P(6 < X < 18) ?

(a) At least 2/3

(b) At least 3/4

(¢) At least 1/2

(d) At least 1/4

A symmetric die is thrown 600 times. What is
the lower bound for the probability of getting
80 to 120 sixes ?

(a) 11/24
(b) 19/24
(c) . 7/24

(d) None of the above

For what value of a, does the weak law of large
numbers hold for the sequence of independent

random variables (X =+n% =1/2?
(a) ao>1/2

(b) a<1/2

() 1/2<a<1

(d 1<a<2

86. For testing the null hypothesis H, : 6 = 8, |88.
against H, : 0 # 0, regarding the parameter
6 of a continuous population, it is proposed to
use the likelihood ratio test based on the
likelihood function L(x,, x,, X, ..., X; 8) = L(8)
of the sample observations.
1.  The test statistic is A L6y)
. e test statistic is A = ————,

Max L(6)

2. X can take a value anywhere in (0, ),
Which of the statements given above is/are
correct ? 89.
(a) 1 only
(b) 2 only
{c) Both 1 and 2
(d) Neither 1 nor 2

87. Suppose that (X, Y) follow bivariate normal
distribution with parameters p, = 5, py = 8,
cf = 186, og =9 p = 06. Then the|90.
conditional probability density function of Y
given that X = 2 is normal with mean and
variance given, respectively as
(a) 576, 6:65
(b) 665, 7-56
(c) 7-56, 5-76
(d) 6-65, 5:76

N-DTQ-K-UVC (30 - A)
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88.

86. Hy:0=0,d H, :0 =0, faog FRiaoia ot ve argfse T X &1 wed 12 3R o1 9 @
wReed & T &g, Had wEic & gEd 3R wirpar dea s &, @@ P(6 < X < 18) @
0 ¥ fug # viteel Yot & wonfear wea= g2
L(xl,xz,xa,...,xn;B)EL(G)WmTﬁHmTﬁHT
I A&7 B AT SAa & | (a) BH-J-IH 2/3
RGN, (b) ®H-A-F9 3/4
1. ﬁmnﬁaﬁa%l—MaxL(B).
() H-|-IH 1/2
2. (0,)F & f AR A wHA B | @) TEdTT 1/4
39w oA § ¥ B A we 2E ?
@ a1 89. Us wafya 4 @1 600 IR a1 FAT ¥ | 80 W
: 120 & 3™ & wRear & Fre oRew @ @ 2
(b) Had 2
(a) 11/24
() 13k 2=
(b) 19/24
d FTFari1skad2
(c) 17/24
(d) 3ITes | & D5 &
87. #M Afee B X, V) R = dfta € s
WG py = 5, py = 8, 07 =16, 05 =9,p =06 _
%Iﬁmg:m%,ﬁix=2ﬁ1!€’lﬂrWYﬁrso' o & fow = & foe, W= agfees = &
e TRea T Bed S 8, s IFPA (X, = £ n% = 1/2 & fore geq wemsh &
ez 3R sRRoT, e & g P am & ?
(a) 576, 6:65 (a) a>1/2
(b) 665, 756 (b) a<1/2
(c) 1756, 5:76 (© 12<a<l
N-DTQ-K-UVC (31 %)
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91. Given the following arrangement :

Replication Block I: (abc) (b) (ac) (1)

Block IT: (¢)  (ab) (a) (be)

The interaction that has been confounded is

(a) AB

(b) BC

() CA

(d) ABC

92. ¥, ¥9 Y3 and y, are four observations. If X Ly,
is a linear contrast where L 1y, l; and [, are
fixed weights, when which one of the following
is correct ?

(a) ll +l4=l3—12

(b) ll +12=l3—l4

© Li+l=-13-1,

@ L+l=l3+1

93. If the experiment is carried out in a 3% x 32

Latin square, what is the degrees of freedom

of error ?

(a) 81

(b) 80

(e) 60

(d 56

94. Which one of the following statements is not
correct ?

(a) The principle of likelihood ratio offers a
method for construction of tests of
composite hypotheses.

(b) The usual t-test used to test Hy: m = my
where m is the mean of normal
distribution with unknown variance is a
likelihood ratio test.

(c) The likelihood ratio criterion A lies in
the interval [0, 1] and the critical region
is the right-hand tail of the null
distribution of A. !

(d) The x2test can be used to find the
critical value of A where the sample size
is large.

N-DTQ-K-UVC

95.

96.

97.

(32 - A)

Which one of the following conditions is not
required for the application of yZ-test for
goodness of fit ?

(a) The sample should be random.

(b)

Constraints on cell frequencies, if any,
should be linear.

(c) Sample size should be sufficiently large
and expected cell frequencies (e;) 2 5 for
all 1.

(d) Mean of distribution should be known.

The following observations were recorded
from two populations
functions F,(x) and Fy(x).

with distribution

Population I : 3, 7
Population IT : 2, 5, 8, 9

The Mann — Whitney test statistic U for
testing H, : F,(x) = Fo(x) has the value

(a) 6

(b) 10
(c) 15
(d 24

A Bayes estimator is minimax if its risk is
(a) Bounded
(b) Minimum
(¢) Constant
(d)

Zero
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91. frafofea famors far 2 95. frfofea sfeadl & & o @ ve, wisH-gga
2 31’:[,51’&\11 RG]
SRR WEI:  (abo) () (ac) (1) :Fm e T w
@EI: (c) (ab) (a) (bo) '
v 1 WeRa g8 8, 98 & (a) wieel argfess @ afee |
(a) AB (b) DR TRERaE | TRY, ot I8 €,
(b) BC Has 8= wfke |
(c) CA
(d) ABC (c) vitest &1 s wafa @8 89 oifte sk
92y .y, v, 3R y, IR Yawr € | ARk Ly, oS RE | 1 oAl
Waw dvar & 56T 1, 1y, 1y 3R 1, Froad wR €,
R Y s s o & 2 (d) deH B Hed FA S AMRE |
@ L+l,=13-1,
b) I +ly=ly-1,
© l+l,=—1y-1 96. 1 wafedl ¥, 5Fd de wem F(x) 3R Fyx) &,
@ L+l=1l+1 FrmfeiRaa Seolt @1 sifsa foan mar -
93. ol U 3% x 32 AR af ¥ wam fa o &, @ wRel: 3,7
I B WA= e Far @t ? e I1: 2,5,8,9
(:) 3(1, Hy : Fy(0) = Fy(x) & wieor & fre w - Reeh
(b) e wieests U & o= e & 2
(c) 60
(d) 56 (a) 6
94, Frafefaa 4 3 & w1 v Tum w78 & 2 ® 10
(a) wrIfdan U & Rigr= g aReea &
el @ <o @ R B | aRan () 15
e | @ 24
(b) Ho:mzmoﬁqﬁwﬁﬁﬂlw
t-0&01, SRl m WEMED §¢d o Wed ®
St , T ST O
- won sqwm m97. US 85 MBS NS & af gwar i
(¢c) wonfaer arua few o s [0, 1] # @ (a) uRag#
IR wifas &3 L & g deq & afdomEdt
o ‘ (b) =gAew &
(d) =& wfoesl &1 U §91 & 9§ A & BAS (0 forie
7= e & e o2 weor wdm # forar s
FebaT & | @ gag
N-DTQ-K-UVC (33 -A)
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98. In a decision problem, ® = (6,, 05, ..., ) [100. Consider the following two series of
and D = (d,, dy, ..., d,). The risk function is observations A and B :
R(0, d).

Series A | 2040 | 2010 | 2050 | 2070 | 2020
Consider the following statements : Series B 4 1 5 7 2

1. A best decision rule aims to select a ‘d’ such
that R(0, d) is the minimum for all 0.

2. The Bayes decision rule selects a ‘d’ such
that the average risk is the minimum for
an assumed prior distribution.

Which one of the following is correct ?

(a) Mean of series A is equal to that of
series B

(b) Standard deviation of series A is equal
to that of series B
Which of the statements given above is/are

(c) Standard deviation of series A is
correct ?

10 times that of series B

(d) Standard deviation of series B is
(b) 2 only 10 times that of series A

(¢) Both 1 and 2
(d) Neither 1 nor 2

(a) 1 only

99. The average and variance of rainfall at four
stations A, B, C and D based on one month
data are given below :

Station A B C D
Mean rainfall in mm 10 | 14 | 8 16
Variance 251364944

In which station was there consistent rainfall ?
(a) Station A
(b) Station B
(c) Station C
(d) Station D

N-DTQ-K-UVC (34 - A)
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98. s fofg W A, © = (0, 6, ..., 0,) 3R
D =(d,, dy, ..., d)). SFEH B R6, d) & |
FrafefEa sot ) R Sifswe -

1. s I Fofa Fom & teg ve @ & T
§9 BR &1 2 f5 w0 & fowe R, @)
AT 7 |

2. oy fofa fom @ &1 999 39 TR aRar &
fs Bfeaa g de7 & fore sitwa shfiew =gaw
Gl

IGE T A A B Ay we 2 7

(a) a1 '

(b) ®ad 2

() 13K 23

d Fdr13dkRad2

99, UF WM & 3Pl & FUR R gR WHE A, B, C
3k D w auf & 3t 3k sRor AR Re e #
_H A B C D
it auf fiedy & 10 14 8 16
TERO 25 | 36 | 49 | 44
fre W R g auf o 2
(a) WHA
(b) ®WHB
(¢c) wWMHC
(d) ®=™D

N-DTQ-K-UVC (35 - A)

100. Yaoii A 3R B & Frafofas & Afml w fer

BifaTe :

o A | 2040 | 2010 | 2050 | 2070 | 2020
2oy B 4 1 | 5 7 2

R iAo ad & 2

(a) Ao A @ areg AvT B & Wl & a¥ET &
(b) AN A & wFe fdwe=, A0 B & wFo
oo & e @

o A & 7&e faaew, 30 B & wFw
faaes & 10 T

ot B & a-a fageq, 40 A & a9e
faaem & 10 70

(c)

(d)
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SPACE FOR ROUGH WORK

= oM & fore s
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SPACE FOR ROUGH WORK
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5iq d@ ad a8 Rievr gRaer @es d1 T dEr Se ad ad T G
A&H. : N-DTQ-K-UVC wiaor gRer srgmH

gdteror gikdet
iRk

: & goe guifes : 300

e IR B qR 9., 39§ e gRas B ggare sEea X ¢ & g o e ew, we

o1 g1 BT YSS Hyal Wi anfe 7 & | afk e &, o 52 9 wdaor gRawt | awe v |

FR-TEe ¥ W wH ® W gRa@ 3wE A, B, C a1 D auiRufy we w9 @ geag difwe |

7 e JRasT R 1Y A Qe T Bred § e A

I foramt & | wier gRae R SR por T ford |

39 qeor gRaer # 100 veArer (99) few e € | o wemier Rl sik st F ww @ | v v A

R (FeR) e me & | T X oo TR B g o O A0 IR-TEe R 3ifdd BN 9w § | ik

mmaﬁﬁsw%mmaﬁﬁaﬁmmaﬁﬂﬁsﬁaﬁmmmaﬁlm

oo & fore daer oo @ TG T |

ST I Wt WegeR S ¥ e M IR R & sifed A € | IR-wEe A few e fdw 2w |

¥ e & 37 T € |

o Uga {5 3w wewr gRaer & fafim geeiel & SRR IR-Te W 3ifdd A1 I WX, AT waw

yHI-uF & e A SR & FER $6 AR sTIR-Es A A E |

8. 3T AT W FGER! B IR-UAS H WA & A qu1 WET & WA R IFeT JR-YAS TS BN AT
& | 3o 3w e gRad & S B FEld 2 | ’

9. @ &M & fow s werr WRaer & 3 A FaE € |

10. e IRI & fove avs

TR weR-wAl § Iufiear grT Re me wea IR & e avs Ran smem |

() WS ¥ & o OR dofe W € | ieR aR1 TRe g & o Re e ve Ted s & fore
we &g Fraa fooe e siet @1 vw-fed (0-33) 208 & wu F Hrer S |

(i) afE B¢ 3leaR v ¥ A® IR a1 8, A W e IR A e, ga e e IR F dF ve
FR & B &, B o 3w v & R swfEeR @ I @_e @1 qus fan smem |

(ii) af¥ IfeaR gRT e weu & & fovan S &, srefe InfeER gRT IR A & Fvan 2, @ 39 v
& foe o1 vz = Ran sme |

59 a@ AP gF gem gRa®r @ @) 7 a1 AT d@ a@ T @l

Note : English version of the instructions is printed on the front cover of this Booklet.
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